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Î³Ú – W¡à¹ Q@i¡à šèo¢³à> – 100 

Time : 4 hours Full Marks : 100 

 ( ³àì>¹ P¡¹ç¡â« – 80% ) 

 ( Weightage of Marks : 80% ) 
 

š[¹[³t¡ * ™=à™= l¡üv¡ì¹¹ \>¸ [¤ìÅÈ ³èº¸ ëƒ*Úà Òì¤ ¡ú "Ç¡‡ý¡ ¤à>à>, "š[¹ZáÄt¡à &¤} 
"š[¹ÍHþà¹ ÒÑzàÛ¡ì¹¹ ëÛ¡ìy >´¬¹ ëA¡ìi¡ ë>*Úà Òì¤ ¡ú l¡üšàì”z šøìÅ¥¹ ³èº¸³à> Îå[W¡t¡ "àìá ¡ú 

Special credit will be given for precise and correct answer. Marks will 

be deducted for spelling mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 

 

[¤®¡àK - A¡ 

GROUP - A 
 ë™ ëA¡àì>à ƒå[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> – 

 Answer any two of the following questions :  18 × 2 = 36 

1. Î³à\t¡w A¡ã ? Î³à\A¡³¢ "‹¸Úì> Î³à\t¡ìw¹ P¡¹ç¡â« ¤¸àJ¸à A¡¹ç¡> ¡ú 

 What is Sociology ? Discuss the importance of Sociology in Social 

Work.  6 + 12 

2. Îà³à[\A¡ ëKàË¡ã ¤ºìt¡ A¡ã ë¤àc¡àÚ ? šøà=[³A¡ * ëKïo ëKàË¡ã¹ ³ì‹¸ šà=¢A¡¸ "àìºàW¡>à 
A¡¹ç¡> ¡ú 

 What is meant by social group ? Discuss the differences between 

primary and secondary groups.  8 + 10 

3. A¡º¸àoA¡à¹ã ¹àÊ¡ö ¤ºìt¡ A¡ã ë¤àc¡àÚ ? A¡º¸àoA¡à¹ã ¹àìÊ¡ö¹ ë³ïº í¤[ÅÊ¡¸P¡[º "àìºàW¡>à 
A¡¹ç¡> ¡ú 

 What is welfare state ? Discuss the basic features of a welfare state.  
   6 + 12 

4. "=¢î>[t¡A¡ ¤õ[‡ý¡¹ "=¢ A¡ã ? "=¢î>[t¡A¡ ¤õ[‡ý¡ìt¡ šø®¡à¤Îõ[Ê¡A¡à¹ã l¡üšàƒà>P¡[º A¡ã ? 

 What is meant by economic growth ? What are the factors of economic 

growth ?  6 + 12 
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 [¤®¡àK - J 

GROUP - B 
 ë™ ëA¡àì>à [t¡>[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> – 

 Answer any three of the following questions :  12 × 3 = 36 

5. 1990-š¹¤t¢¡ã ®¡à¹t¡ãÚ "=¢>ã[t¡¹ š[¹¤t¢¡> Î´šìA¢¡ &A¡[i¡ Î}[Û¡œ¡ [>¤Þê¡ ¹W¡>à A¡¹ç¡> ú 

 Write a short essay on the changes of Indian economy after 1990. 12 

6. Î³à\t¡ìw Îà³à[\A¡ãA¡¹o-&¹ ‹à¹oàKt¡ "=¢ &¤} P¡¹ç¡â« "àìºàW¡>à A¡¹ç¡> ¡ú  

 Discuss the conceptual meaning and importance of socialisation in 

Sociology.  4 + 8 

7. Îà³à[\A¡ š[¹¤t¢¡> ¤ºìt¡ A¡ã ë¤àc¡àÚ ? Îà³à[\A¡ š[¹¤t¢¡ì>¹ l¡üšàƒà>P¡[º A¡ã ? 

 What is social change ? What are the factors of social change ?  4 + 8 

8. >K¹àÚìo¹ "=¢ A¡ã ? "àš[> [A¡ ³ì> A¡ì¹> ë™ >K¹àÚo * [Å¿àÚ> Q[>Ë¡ Î´šìA¢¡ 
"à¤‡ý¡ ? 

 What is the meaning of urbanisation ? Do you think that urbanisation 

and industrialisation are closely related ?  4 + 8 

9. [¤Å¬àÚ> ¤ºìt¡ A¡ã ë¤àc¡àÚ ? [¤Å¬àÚ> [A¡ Ç¡‹åÒü &A¡[i¡ "=¢î>[t¡A¡ šø[yû¡Úà ? ¤¸àJ¸à 
A¡¹ç¡> ¡ú 

 What is globalisation ? Is it an economic event only ? Explain.  4 + 8 

10. ®¡à¹ìt¡¹ \>Î}J¸à ¤õ[‡ý¡ Î´šìA¢¡ &A¡[i¡ Î}[Û¡œ¡ [>¤Þê¡ ¹W¡>à A¡¹ç¡> ¡ú 

 Write a short essay on the population growth of India.  12 

 [¤®¡àK - K 

GROUP - C 
11. Î}[Û¡œ¡ i¡ãA¡à ¹W¡>à A¡¹ç¡> ( ë™ ëA¡àì>à W¡à¹[i¡ ) – 

 A¡) Î”|àÎ¤àƒ J) ƒà[¹‰¸ 

 K) ë¤A¡à¹â« Q) [ºU Îå[¤W¡à¹ 

 R¡) [>¹Û¡¹t¡à W¡) ³àƒA¡àÎ[v¡û¡ 

 á) š[¹™à> \) \àt¡ãÚ "àÚ 

 Write short notes on any four of the following :  7 × 4 = 28 

 a) Terrorism b) Poverty 

 c) Unemployment d) Gender justice 

 e) Illiteracy f) Drug addiction 

 g) Migration h) National income 

   


